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Given the similar figures, name all pairs of corresponding sides and angles. L;)ok at the similarity statement to

help.
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1. If polygons are similar then what do you know about the corresponding sides and the corresponding angles?

0P > ED  sp= <E IM>_RS 1= <% B Be sa= <R
PR->DF  pe <D MN > 3T =<5 BC» &F  sB= <G
j— ‘ —

RO > FE LRz <T N> TR yn= & T ZC= £F
DA>EH /D=

'
)

Use the similar pglygons above to write the statement of proportionality for each:
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Complete the similarity statement for the similar figures and then find the scale factor . REDUCE fractions|
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Scale Factor: /3 Scals Factor: 5/2.
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~_The two polygons are similar. Write a proportion an
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Complete the similarity statement for the similar figures and then find the scale factor .

Next, write proportions and SOLVE for the missing lengths.
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————Are these triangles-similar by the AA~-Postulate? Answer yes of no-if the triangies are'similar,

statement.
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Find the angle measurements and set up proportions to find all missing side lengths. Notice the trian

similar by AA~,
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Given two similar figures, find the scale factor and the ratio of
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Kuta Software - Infinite Geometry Name

Trigonometric Ratios Date Period
Find the value of each trigonometric ratio.
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Kuta Software - Infinite Geometry Name

Solving Right Triangles Date

Period

Find the missing side. Round to the nearest tenth,
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Name:

Period:

Date:
Practice Worksheet: Right Triangle Trigonometry
Fmd‘the exact value of the trig ratio for 6. Simplify all radicals and rationalize denominators if needed
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Label the sketch and solve right A4BC using the given info. Round answers to two decimals
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Label the sketch with the given information. Use your sketch to write ONE equation to find the missing value
indicated. Solve that equation, showing all work. Round to two decimal places where needed.

7. GivenmsA =27",and b =1, find c.

P
fos27 = X

8. Given b =8and ¢ = 10, find m£B.
sné= 2
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9. leen ;{‘LLB = 60", and ¢ = 11, find a.
G=5.5
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10. Given a 4and b =13, find mLA.
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11. Given a = 7 and ¢ = 25, find m<B.

12. Given mzA = 50°, and b = 5, find a.
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13. Givenme¢A =47 ,and c = 3, find a 14. Given msB = 57", and b = 10, find c.
“ ¢

- oo e
Cosyab T T

15. A ladder leaning against 2 house makes an angle of 30" with the ground. The foot of the ladder is 7 feet
from the foot of the house. How long is the ladder? Show all work and label the sketch. '




Regents Exam Questions G.SRT.C.6: Trigonometric Ratios 1b Name:
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G.SRT.C.6: Trigonometric Ratios 1b

1 In AABC below, the measure of Z4 = 90°, AB =6, 4 Which ratio represents the cosine of angle 4 in the
AC=8,and BC=10. ’,1 7 % - right triangle below? o
o OInBTE e
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Which ratio represents the sine of ZB? .
5 Which ratio represents cos4 in the accompanying

2 The diagram below shows right triangle UPC. diagram of A ABC? <
s A=z

6 In right triangle ABC shown below, what is the
value of cos 47

Which ratio represents the sine of ZU?

3 Which ratio represents sinx in the right triangle
shown below?
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~ Regents Exam Questions G.SRT.C.é: Trigonometric Ratios 1b Name:
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7 Inthe accompanying diagram of right triangle 4BC, 10 Which equation shows a correct trigonometric :
AB=8,BC=15, AC=17, and m/4RC = 90, for angle 4 in the right triangle below?
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1) sind= 7
8 The diagram below shows right triangle 4BC. 8
= 2) tand=—
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. 11 Right triangle 4BC has legs of 8 and 15 and a
Which ratio represents the tangent of ZABC? hypotenuse of 17, as shown in the diagram belov
9 The diagram below shows right triangle ZMP. A
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The value of the tangent of £B is i

Which ratio represents the tangent of ZPLM? 12 In triangle MCT, the measure of /T = 90°, v Jl
L MC=85cm, CT= 84cm, and TM = Bem. 17«
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Regents Exam Questions G.SRT.C.6: Trigonometric Ratios 1b Name:
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i4 In nght tnang]e ABC shown below AC =12, 17 In the diagram of right triangle ADE below
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Which equation is not correct? Which ratio is always equivalent to the sine of £4
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24 Which statement is always true?
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5.8 Special Right Triangles Worksheet
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5.8 Special Right Triangles Worksheet Name:
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15. The shortest side of a 30°-60°-30¢ triangle is 15. Find the lengths of the other sides,

16. The hypotenuse of a 30%-509-90° triangle is 18. Find the lengths of the other sides,

i S 9 and 912
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17. One leg of a 459-459-9(° tnangle s 8. Find the lengths of the other sides.

m@* | 9 and Qi
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Worksheet 8.4 Trig Word Problems Name

Geometry Regular Date Mods;

1. A monument stands on leve! ground. The angle of elevation to the top of the
monument taken at a point 405 feet away is 32°. Find the height of the monument.
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2. A boy flying a kife lets out 150 feet of string that makes an angle of 64° with
the ground. If the string forms a straight line, how high is the kite above the
ground?

3. A person in a balloon which is 2,000 feet above the airport finds that the angle
of depression to a ship out at sea is 21°. Find the horizontal distance between the
balloon and the ship. (or the distance from the airport to the ship)
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4. Anairplane climbs at an angle of 11° with the ground. Find the distance it has
traveled when it has attained an altitude of 400 feet,
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5. Find the angle of elevation of the sun when a 24 foot free casts a shadow of 36
feet. -
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6. A 40 foot ladder is leahing against a building. The foot of the ladders is 32 feet
from the building. Find the angle that the ladder makes with the building.
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7. A television tower is 150 feet high and an observer is 120 feet from the base of
- - =the-tower-Find-the angle of elevation to the fop of the tower from the place where
the observer is standing.
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8. A 40 foot ladder which is leaning against a wall reaches the wall at a point 36
feet from the ground. Find the angle that the ladder makes with the ground.
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